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 )يرجى آتابة الاسم والرقم الجامعي على ورقة الاسئلة والاجابة(
Question 1                                                                                                       (4marks) 
   
 
 
 
 
 
 
 

1- Compute the maximum allowed loss (dB) in splice so the system will properly work.  
2- Compute the power at the input of the second fiber. 
3- Compute the efficiency of the system in dBm. 

Question 2                                                                                                      (2marks) 
Find the energy of one photon (in eV,) where the light wavelength mμλ 83.0=  and 

sJh ××= −3410626.6 (Planck's constant). 
Question 3                                                                                                     (2marks) 
 

 
  
 

1- Find the refractive index of the fiber if the incident angle 045=iθ and the transmitted 
angle 032=tθ  

2- If R1=R2 (Curvatures of spheres) then compute the focal length. 
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Question 4                                                                                                     (2marks) 
 
 

 
 
 
 
 
 
 
 
 
Compute the Magnification and Image distance. 
Question 5                                                                                                      (2marks) 
 
 
 
 

 
 
 
 
Compute the diverges angle in radians if the light wavelength mμλ 815.=  and mmw 1=  

f f=1.5 cm 

di do=0.75 cm 
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